Welcome to download the Newest 2passeasy 300-620 dumps

Q 2 P QsseaQs lJ https://lwww.2passeasy.com/dumps/300-620/ (133 New Questions)

Exam Questions 300-620

Implementing Cisco Application Centric Infrastructure (DCACI)

https:/lwww.2passeasy.com/dumps/300-620/

Passing Certification Exams Made Easy visit - https://www.2PassEasy.com



Welcome to download the Newest 2passeasy 300-620 dumps

@ 2 P QsseaQs LJ https://lwww.2passeasy.com/dumps/300-620/ (133 New Questions)

NEW QUESTION 1
Which type of policy configures the suppression of faults that are generated from a port being down?

A. fault lifecycle assignment
B. event lifecycle assignment
C. fault severity assignment
D. event severity assignment

Answer: C

Explanation:
Reference: https://www.cisco.com/c/en/us/td/docs/switches/datacenter/aci/apic/sw/all/faults/guide/b_APIC_Faults_Errors/b_IFC_Faults_Errors_chapter_01.html

NEW QUESTION 2
A situation causes a fault to be raised on the APIC. The ACI administrator does not want that fault to be raised because it is not directly relevant to the
environment. Which action should the administrator take to prevent the fault from appearing?

A. Under System -> Faults, right-click on the fault and select Acknowledge Fault so that acknowledged faults will immediately disappear.

B. Create a stats threshold policy with both rising and falling thresholds defined so that the critical severity threshold matches the squelched threshold.
C. Under System -> Faults, right-click on the fault and select Ignore Fault to create a fault severity assignment policy that hides the fault.

D. Create a new global health score policy that ignores specific faults as identified by their unique fault code.

Answer: C
NEW QUESTION 3
DRAG DROP

An engineer is configuring a VRF for a tenant named Cisco. Drag and drop the child objects on the left onto the correct containers on the right for this
configuration.

A. Mastered
B. Not Mastered

Answer: A

Explanation:

NEW QUESTION 4
Which feature dynamically assigns or modifies the EPG association of virtual machines based on their attributes?

A. vzAny contracts

B. standard contracts

C. application EPGs

D. uSeg EPGs

Answer: D

NEW QUESTION 5

Which feature allows firewall ACLs to be configured automatically when new endpoints are attached to an EPG?
A. ARP gleaning

B. dynamic endpoint attach

C. hardware proxy

D. network-stitching

Answer: B

NEW QUESTION 6
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Where is the COOP database located?

A. leaf

B. spine

C. APIC

D. endpoint

Answer: B

Explanation:
Reference: https://www.cisco.com/c/en/us/solutions/collateral/data-center-virtualization/application-centric-infrastructure/white-paper-c11-739989.html

NEW QUESTION 7
Refer to the exhibit.

Which two components should be configured as route reflectors in the ACI fabric? (Choose two.)

A. Spinel
B. apicl
C. Spine2
D. Leafl
E. Leaf2
F. apic2

Answer: AC

NEW QUESTION 8

Which table holds IP address, MAC address and VXLAN/VLAN information on a Cisco ACI leaf?

A. endpoint

B. adjacency

C.RIB

D. ARP

Answer: A

Explanation:

Reference: https://www.cisco.com/c/en/us/solutions/collateral/data-center-virtualization/application-centric-infrastructure/white-paper-c11-739989.html
NEW QUESTION 9

An engineer is extending an EPG out of the ACI fabric using static path binding. Which statement about the endpoints is true?
A. Endpoints must connect directly to the ACI leaf port.

B. External endpoints are in a different bridge domain than the endpoints in the fabric.

C. Endpoint learning encompasses the MAC address only.

D. External endpoints are in the same EPG as the directly attached endpoints.

Answer: C

NEW QUESTION 10

Refer to the exhibit.

Which two objects are created as a result of the configuration? (Choose two.)
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A. application profile
B. attachable AEP
C. bridge domain

D. endpoint group
E. VRF

Answer: CE

Explanation:
Reference: https://www.cisco.com/c/en/us/td/docs/switches/datacenter/aci/apic/sw/2-x/rest_cfg/2_1_x/b_Cisco_APIC_REST_API_Configuration_Guide/b_Cisco_A
PIC_REST_API_Configuration_Guide_chapter_01110.html

NEW QUESTION 10
Which two dynamic routing protocols are supported when using Cisco ACI to connect to an external Layer 3 network? (Choose two.)

A. iBGP
B. VXLAN
C.I1S-IS
D. RIPv2
E. eBGP

Answer: AE

Explanation:
Reference: https://www.cisco.com/c/en/us/td/docs/switches/datacenter/aci/apic/sw/1-x/ACI_Best Practices/b_ACI_Best Practices/b_ACI_Best Practices_chapter
~010010.html

NEW QUESTION 13
Regarding the MTU value of MP-BGP EVPN control plane packets in Cisco ACI, which statement about communication between spine nodes in different sites is
true?

A. By default, spine nodes generate 9000-bytes packets to exchange endpoints routing informatio
B. As a result, the Inter-Site network should be able to carry 9000-bytes packets.
C. By default, spine nodes generate 1500-bytes packets to exchange endpoints routing informatio
D. As a result, the Inter-Site network should be able to carry 1800-bytes packets.
E. By default, spine nodes generate 1500-bytes packets to exchange endpoints routing informatio
F. As a result, the Inter-Site network should be able to carry 1500-bytes packets.
G. By default, spine nodes generate 9000-bytes packets to exchange endpoints routing informatio
H. As a result, the Inter-Site network should be able to carry 9100-bytes packets.

Answer: D

NEW QUESTION 17
Refer to the exhibit.

An engineer is integrating a VMware vCenter with Cisco ACI VMM domain configuration. ACI creates port-group names with the format of “Tenant | Application |
EPG”. Which configuration option is used to generate port groups with names formatted as “Tenant=Application=EPG"?

A. enable tag collection
B. security domains

C. delimiter

D. virtual switch name

Answer: D

NEW QUESTION 21

Which new construct must a user create when configuring in-band management?
A. VLAN pool

B. management contract

C. management tenant

D. bridge domain

Answer: D

Explanation:

Reference: https://www.cisco.com/c/en/us/td/docs/switches/datacenter/aci/apic/sw/kb/b_KB_Configuring_Static_Management_Access.html

NEW QUESTION 23
What must be configured to allow SNMP traffic on the APIC controller?

A. out-of-band management interface
B. contract under tenant mgmt

C. SNMP relay policy

D. out-of-band bridge domain

Answer: B
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NEW QUESTION 24
Refer to the exhibit.

A client reports that the ACI domain connectivity to the fiber channel storage is experiencing a B2B credit oversubscription. The environment has a SYSLOG
server for state collection messages. Which value should be chosen to clear the critical fault?

A. 300
B. 410
C. 350
D. 510

Answer: B

NEW QUESTION 25
Which statement about ACI syslog is true?

A. Notifications for different scopes of syslog objects can be sent only to one destination.
B. Syslog messages are sent to the destination through the spine.

C. All syslog messages are sent to the destination through APIC.

D. Switches send syslog messages directly to the destinations.

Answer: A

Explanation:

Reference: https://www.ciscolive.com/c/dam/r/ciscolive/us/docs/2016/pdf/BRKACI-2303.pdf
NEW QUESTION 28

Which protocol does ACI use to securely sane the configuration in a remote location?
A. SCP

B. HTTPS

C.TFTP

D. FTP

Answer: A

Explanation:

Reference: https://www.cisco.com/c/en/us/td/docs/switches/datacenter/aci/apic/sw/kb/b_KB_Using_Import_Export_to_Recover_Config_States.html

NEW QUESTION 33
Which attribute should be configured for each user to enable RADIUS for external authentication in Cisco ACI?
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A. cisco-security domain
B. cisco-auth-features
C. cisco-aci-role

D. cisco-av-pair

Answer: D

Explanation:
Reference: https://www.cisco.com/c/en/us/td/docs/switches/datacenter/aci/apic/sw/2-x/Security_config/b_Cisco_APIC_Security _Configuration_Guide/b_Cisco_API
C_Security_Guide_chapter_01011.html

NEW QUESTION 36
Which two statements regarding ACI Multi-Site are true? (Choose two.)

A. The Multi-Site orchestrator must be directly attached to one ACI leaf.

B. Routers in the Inter-Site network must run OSPF, DHCP relay, and MP-BGP.

C. ACI Multi-Site is a solution that supports a dedicated APIC cluster per site.

D. ACI Multi-Site is a solution that allows one APIC cluster to manage multiple ACI sites.
E. The Inter-Site network routers should run OSPF to establish peering with the spines.

Answer: AE

NEW QUESTION 39
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